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ECONOMICS
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Paper : ECO-HC-3016
( Intermediate Microeconomics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O] SRICAI Ted fi

(a) What is cardinal utility?
RIS Seeifare f 2

(b) State one assumption of utility analysis.

TocAIfael R 9o 47 foram |
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(2)

What is production function?

TeomE o 52

Define income effect.

oy o g |

What is marginal rate of substitution?

Afesee 21fes 21 I & g2

What is the shape of indifference curve in
case of perfect substitutes?

of o5 AR (Fqe FRCTF QRN WfS
@ 2 ?

Define expansion path.

SEpTEe Y12 AEl |

What is meant by inter-temporal choice?

SRS 2% e o T 2

Define opportunity cost.
et I e fird |

State the concept of ‘shut-down point’ of
a firm.

91 OB Seom-TE [T EE Seay
el

( Continued )

2. Write short answers
questions :

(3)

of the following

O OIS 5 Teq fied -

(@)

(b)

()

(d)

(e)
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What is meant by budget space or set?

S0 T A1 =S e 3@ 2

Distinguish between gross demand and
net demand.

10 OIS 5% SRS TS el P 4 |

State the two conditions of consumer’s
equilibrium under indifference curve
approach.

FrRes @@ Reee orer SRR 58 o1
ey 901

Distinguish between explicit cost and
implicit cost.

AP0 T S HAFPT T3 9 o1 =47

State the concept of optimum firm.

FT RSB 49T Sy 41 |
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3. Answer the following questions (any four) :
5x4=20

SR 2R ol e (R e wifsnT) -

(a) With the help of indifference curves,
distinguish between normal goods and
inferior goods.

fReer® @R SREe eSS we e
STHAR WeR AL FfT F41 1

(b) Explain the concepts risk averter, risk
lover and risk neutral individuals.

= SRS, P SERAE e 5 e
i Qe A 40|

(c) Briefly explain the concept of returns
to scale.

Tl AR AR AIRACH] SYC W47 331

(d) Briefly state the characteristics of
perfectly competitive market.

of eifecafTeTe Ta CAREPE St o |

(e) Explain how a consumer can reduce risk.

TSGR (AR 5P FAR AT, WG 39 |
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4. Answer the following questions :

(S)

Derive average fixed cost curve from total
fixed cost curve.

P R @R A T 7 W @RS
1|

TeR 2PIERR Tek il

(@)

(b)
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Define indifference curve. Explain their

10x4=40

properties. 2+8=10

s @R ee for | R CAREEER
el

Or / g

Critically discuss the law of variable
proportion.
ofigdae  Tmeme R ST
TCEToel 91 |

What is least cost combination of inputs?
Discuss how least cost combination of
inputs is attained with the help of
isoquant and isocost lines.

Wmﬁ“ﬂﬁﬂ«w%? S-S (91 S
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(6)
Or / T

Explain inter-temporal choice of a
consumer with the help of a diagram. 10
TACSIOR (SR SRSTROMS 4@ A e
KIS

Explain short-run equilibrium of a firm
under perfect competition. 10

A afecfiers g3 afeda ZveTe @ emE
SR &1 ¢, 4 470 |

Or / 7

What are isoquants? Show the
increasing, constant and decreasing
returns to scale with the help of
isoquants. 1+3+3+3=10

F-BeAM (@1 2 T-TAE @R awe
FIAM, AT SE TGP AT T
oifSHT (wyed |

Define substitution effect. Explain
Slutsky substitution effect with the help
of diagram. 2+8=10

dfses Rerea e fn | o afows R
oG a1 1= 47 |

( Continued )
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(7))

Or / T

Explain the concepts of total fixed cost,

total variable cost and total cost. How are

they related to each other? Explain.
2+2+2+4=10

72 133 IR, P ARTETNE T AF T 7 4_q
I 1 | SR TR FE I
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or / T
or / Tg7
Explain the concepts of total fixed cost,
Explain inter-temporal choice of a total variable cost and total cost. How are
consumer with the help of a diagram. 10 they related to each other? Explain.

212+2+4=10

P &1 T, P AR T W 2 G GE@
T 90 | GRIR IRE IFAE 0 0

TCered (S SRSTRSS Rvd [ fBag
R A0 41 |

(c) Explain short-run equilibrium of a firm
under perfect competition. 10

o sdfscafiere @4m fS¥s zvere @rEmE
SR &S F¢d, 0T F47 |

Or / &4 )

What are isoquants? Show the
increasing, constant and decreasing
returns to scale with the help of
isoquants. 1+3+3+3=10

MH-BeoMe (@91 52 TW-Sedmm @R e

AL, A AT TP ST @]
oo creed |

(d) Define substitution effect. Explain
Slutsky substitution effect with the help
of diagram. 2+8=10

dfeFs RAa e it | R eifves R
oqa =€ A 41 |
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